

$$\textcircled{1} \quad \frac{1}{12x^3y}, \frac{3}{8x^2y^4}$$

$$12x^3y = 2 \cdot 2 \cdot 3 \cdot x \cdot x \cdot x \cdot y$$

$$8x^2y^4 = 2 \cdot 2 \cdot 2 \cdot x \cdot x \cdot y \cdot y \cdot y \cdot y$$

$$\begin{aligned} \text{LCD} &= 2 \cdot 2 \cdot 2 \cdot 3 \cdot x \cdot x \cdot x \cdot y \cdot y \cdot y \cdot y \\ &= 24x^3y^4 \end{aligned}$$

$$\textcircled{2} \quad \frac{9}{x+4}, 5$$

$$\frac{9}{x+4}, \frac{5}{1}$$

$$x+4 = (x+4)$$

$$1 = 1$$

$$\text{LCD} = x+4$$

$$\textcircled{3} \quad \frac{5}{3x-9}, \frac{9}{8x-24}$$

$$3x-9 = 3(x-3) \leftarrow$$

$$8x-24 = 8(x-3)$$

$$= 2 \cdot 2 \cdot 2 \cdot (x-3) \leftarrow$$

$$\begin{aligned} \text{LCD} &= 2 \cdot 2 \cdot 2 \cdot 3 \cdot (x-3) \\ &= 24(x-3) \end{aligned}$$

$$\textcircled{4} \quad \frac{1}{x^2-9x+20}, \frac{5}{x^2-16}$$

$$x^2-9x+20 = (x-4)(x-5)$$

$$x^2-16 = (x+4)(x-4)$$

$$\text{LCD} = (x-4)(x+4)(x-5)$$

$$\textcircled{5} \quad \frac{1}{x^2+6x+9}, \frac{5}{x^2+4x+3}$$

$$x^2+6x+9 = (x+3)(x+3)$$

$$x^2+4x+3 = (x+1)(x+3)$$

$$\begin{aligned} \text{LCD} &= (x+3)(x+3)(x+1) \\ &= (x+3)^2(x+1) \end{aligned}$$

$$\textcircled{6} \quad \frac{4}{x} = \frac{4 \cdot 5x^2}{5x^3} = \boxed{\frac{20x^2}{5x^3}}$$

$$\textcircled{7} \quad \frac{1}{9bc^2} = \frac{1 \cdot a \cdot b \cdot b \cdot c^5}{a^2b^3c^7} = \boxed{\frac{ab^2c^5}{a^2b^3c^7}}$$

$$\textcircled{8} \quad x^2-8x+15 = (x-3)(x-5)$$

$$\frac{7}{x-3} = \frac{7(x-5)}{(x-3)(x-5)}$$

$$= \boxed{\frac{7x-35}{(x-3)(x-5)}}$$

$$\textcircled{9} \quad x^2-5$$

$$\frac{9x}{1} = \frac{9x(x^2-5)}{x^2-5}$$

$$= \boxed{\frac{9x^3-45x}{x^2-5}}$$